1)
How would you expect the saturation (unsaturated vs. saturated) levels of the fatty acids of the phospholipids to differ in plants adapted to cold environments?(3 points)

A solution is placed into a selectively permeable .25nm dialysis tubing whose pores allow the passage of molecules no larger than typical monosaccharides. When filled the tubing is sealed and placed into a beaker containing another solution for 2 hours. Use the diagram below to answer the following questions.
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2)
 Which molecule(s) will diffuse and in what direction? Explain your answer.

3)
Would the bag gain mass, lose mass, or stay the same mass after the 2 hour period? Explain

